Power generated by system (kW)

Power generated by system (kW) vs time (hrs) @ SM=4 - SWERA
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Why there is a sudden drop here, and after that again power generation gets constant? i
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= Full load hours of TES (hr)=0 === Full load hours of TES (hr)=2

=== Full load hours of TES (hr)=6 === Full load hours of TES (hr)=8
=== Full load hours of TES (hr)=12 «=Full load hours of TES (hr)=14

= Field collector DNI-cosine product (W/m2)

= Full load hours of TES (hr)=4
== Full load hours of TES (hr)=10
=== Full load hours of TES (hr)=16




Power generated by system (kW) vs time (hrs) @ SM=4-SWERA
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" Why this much of minus value?
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== Full load hours of TES (hr)=0 === Full load hours of TES (hr)=2
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